Computer Science Practice Test
12/17-18/2019

Name:_______________

Matching (1 pt each)


1)___ int 

a) A method used to square a number.


2) __ System.out.println
b) A command used to show information on the screen.


3) __ Pseudocode
c) A word that has special meaning in Java.


4) __ input.nextInt()
d) A command used to get information from the user.


5) __Math.pow()
e) Used for adding comments to a program.


6) __ reserved word
f) A part of a program where you can tie to libraries of commands 

that are not standard to Java.


7) __ // 


g) Writing out in English what a program needs to do.


8) __ { 


h) It marks the start of the code section.


9) __ double

i) A type of variable that stores numbers with decimal values.


10)__ import

j) A type of variable that stores numbers without decimal values.

a. Determine if the following are TRUE/FALSE or cause an error.

Use the following declarations and initial values. (Note “A” < “Z” < “a” < “z”)

int a= 2, b= 3, c= -5;

double x=2.0, y=8.5, z= 9.6;

String p = “X”, q=”Z”, r= “G”;

1) _____  a<b
2) _____  !(c<a)
3) _____  (p.compareTo(r)<0) || (y <c)

4) _____  (a>c) && ((y>z) && (c <x))

5) _____  ! ((b >a) && (r.equals(“Q”)))

6) _____  r.compareTo(q)< 0
b. Find the answer for the following math equations

1) _____  10*2 + 3*7
2) _____  7* Math.sqrt(9) – 2
3) _____  5*Math.sqrt(Math.pow(4,2)+Math.pow(3,2))

4) _____  –5 + 19 / 2 – 8 % 3
5)  _____  35 / 3  % 2 

c. Find the range of possible values for the following random commands.

1) _________________ (int)(10*Math.random())+2

2) _________________ (int)(11*Math.random()) – 6

3) _________________ 2*((int)(9*Math.random())) + 6

4) _________________ 2*((int)(12*Math.random())) – 1

d. For each of the following ranges, write the random code that will generate the numbers

1) _________________ 2 to 15
2) _________________ –2 to 15

3) _________________ 2 to 180

4) _________________ 4 to 22 even

5) _________________ –9 to 17 odd

Short Answer
1) What are the semantics of a while loop?

2) Which construct should you use to do the following and why(for loop, while loop, do while loop, if, if else)?

a. Get 30 phone numbers

b. Determine which score is higher
c. Get an unknown number of recipes from the user

d. Count the number of rolls it takes to get three 7’s in a row.
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Dry run the following: (Show the values of the variables and show what it displays on the screen, 3 points each)


//Dry run
int b=1;
for (int c= 1; c<=5;c++)
{

b= b*2;

if b > 12 then


   System.out.println(b+” ”+c)


else

  System.out.println(c+” “+ b);

}

//Dry Run    

  a= 10;

  do
  {

     if (a % 2) == 0 then


a:= a / 2;
     else

a:= a*3 + 1;

     System.out.println(a);

  }while (a != 1);

//Dry run Program For3;         
 for (int a=1;a<=2;a++)
 {
     for (int b= 1; b<= 3; b++)
     {


System.out.print(a*b);
     }
     System.out.println();


 }

//Dry run method 1
public static void fun(int a, int b)

{

a+=b;

b+=a;
System.out.println(a +” ”+b);
}
public static void main(String[] args)

{
int x = 3,  y = 5;

fun(x, y);

System.out.println(x + “ “ + y);

}

//Dry run method2
public static int fun(int a, int b)

{

for (int i=0; i<=3; i++)

{


a = a + b;


b = b+1;

}

System.out.println(a +” ”+b);

return a;
}
public static void main(String[] args)

{
int x = 2,  y = 3;

x = fun(x, y);

System.out.println(x + “ “ + y);

}



I. Coding.  Write a program for one of the following. (If you are stuck you can earn partial credit for completing hands on, pseudo code, dry run)
a.  Input.  Nothing
          Process/output: Roll a pair of dice 50 times, show each roll and and return the longest sequence of 7’s in a row.
b. Input. 10 scores
Process.  Calculate the modified average of the scores.  
To find the modified average you need to throw out the high and low scores and find the average of the remaining scores.
c.  Input: An unknown number of ages.

Output: The number of teenagers.
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